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Straight Lines - Lesson 5

Drawing a Straight Line Graph from its Equation
LT

e Know the general equation of a straight line (y = mx + c).

e Draw the graph of a straight line.

SC

e Putting numbers into expressions.
e Plotting coordinates.
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Equation of a straight line :

y = mx + ¢

Gradient y - intercept
(where it crosses the y-axis)

To draw a straight line graph,
we need 2 points on the line.

A straight line graph goes on forever.
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Types of Straight Line Graphs

y=x+3 y= -3X

y=2x-7 y=4-x

y =X y=-6x+3

y = 5x y =2 - bx
+ gradient - gradient

Less Common Types

y=4 X =2
y=-9 x=-5
O gradient infinite gradient
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Example 1
Draw the graph of y = x + 4.
x=0:y=04+4=4 0, 4)
x=1:y=1+4=5 (1, 5)
4 y=x+4
6
5
4
3
2
1
oO 1 2 3 4 5 6 X
What is the gradient ?
What is the |y - intercept ?
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Example 2

Draw the graph of y =3 - 2 x.

x=0:y=3-2x0=3 (0, 3)
x=1:y=3-2x1=1 (1,1)

Y

3

=3-2x

5 Y

1

o)

What is the gradient ?
What is the y - intercept ?
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1) y
2) y
3) Yy
4) y
D) Yy
6) vy
7)Yy
8) y

Draw the graphs of these straight lines.
Write down the gradient and vy - intercept of each line.

= X + 3
= X - 2
=X + 7
= 8 - X
= 6 X

= 9 - 2x
= X

= 20 - 10x

9y =0.5x + 2
10) y = 8x - 0.5
1)y = 0.5x -1
12) y = 10 - 0.5 x

13) y = 1.5x%
14)y =9 - 1.5x%
15) y = 2.5x

16) y = 20 - 2.5x
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m =1 1, 4) m=0.5 1,2.5
Dy =x+3 X 9y =0.5x+2 J 2
c= ' c=2 T
— ] m =8 (L.7.5)
2) y = XC— % ‘7(1,_1) 10) y = 8x - 00.55 —
= - c=-0.
m=1 (1, 8) m=0.5
3)y'= X + 7 ¥ 1)y = 0.5x - 1 17(1,_0.@
o A -
m=-1 m=-0.5
4y = 8 - x S(”) 2) y =10 - 0.5x \"??
c= ] c=10 —
p— o) m=1.5 1,1.5)
5y =6x_ o Lr®O3)y -15x %
m=-2 m=-1.5
6)y =9 - 2x NP gy =9 -1.5% _‘107-5)
m=1 m=2.5 1,2.5
Ny =% ey y Sk T
m=-10 m=-2.5
8)y = 20 - 10x INU19[16) y = 20 - 2.5x ‘5‘1'17'5)
c=20 - c=20
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